Calculate percentages and find the outcome of a given percentage increase or decrease

	The cost of a £32 item after an inflationary increase of 5%
	The cost of a fuel bill after a 25% increase on last year’s figure of £27.52
	The cost of £30 worth of timber after VAT is added at 17.5%

	The percentage saving on an item costing £51.60 if marked at 1/3 off
	The percentage increase if multiplying by 1.36
	The price of a £41 car part after a 15% discount

	The cost, in pounds, of a £120 power drill in a ‘30% off’ sale
	A number that can be used when calculating a 30% decrease
	A number that can help calculate 37.5% of 80
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